
Math 103 - Cumulative Review 3 - Chapter 1 and 2.1-2.3 Name__-JS,-O-=---..c-.:(cJA~:..::::...;:)~" Y"\,..:-..:... _ 
/ 

SHOW WORK WHENEVER APPROPRIATE. NO CREDIT GIVEN OTHERWISE. ANSWER MUST BE CIRCLED. 
Due: Wednesday February 6 

Jvaluate the expression. Show all steps!!! 

~. ll[-;j' - t~T3= -
2) If P dollars is deposited in a savings account payingr% annual interest, then the amount A in the account after 

x ye,"" " given by A ~ P(l + l~'/. Find the "",ount in the ac=tZ6D'"" if we deposK #560 dO~~ 
~b P-S"o r=­

annual interest. b ~-~--- _ 
f'= ~'O(I+~) -='79'1-. 37 

Simplify the expression. Use positive exponents. Assume variables represent nonnegative numbers. 

3) x5(x-7)-7 _ ~ 'f1 
(x-5)-9 -- X X. 

X+5 

4) For the given relation: 

, 
9 -1.7 

-1.1])~ 1.3 

-1.5 ~ -1.1]) 

EXPLAIN fler~ /-:."., x= - IS­
~'tJt.. ~ :t;,;-u }- "viA,LJ~~/ 

a) Is this a function? YES 

b) Give the domain c) Give the range 

Complete the table using the formula. 

',,----- ' 

1 

I,;
 "","
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1
5) Given y == ~x + 2 

.:> 

a) Complete the table: 

b) This relation is a FUNCTION because frr ev~,~ (X) ~...c.5~ 

cWL O~~'tJ '., 
c) This relation is a LINEARfUNCTION because 

~;tU A/Oct-'- (j_.tz-t~) ~ c.'f'{td. 

d) Rewrite using function notation: I(X)=!% +'2.
 

e) Complete the following table showing steps in all cases. ,Write answers as fractions. 

Find the value ofthe 

function when x = 3 
Find f(12)= Find f(-24).::­

J ~(-'LI/)+ 'L~3(12..)+1.. 
j:=~(3J+'L 

-= -~ +2.;--'4-of-'2.. ~ fl'~ :::-2J 
Solve f(x) = 12 

, 

,z.~l. '1+1­
~ 

to - I X -3"
 

cg==3~
 

Solve f(x) = - 24 

- 2-'f.:::'t~-f- rz­

-z~ :;-l..;t.
.J 

~7i=!J
 

Find x when y = - 4 

-If=·Lx+'L 
_'2.:. 3 -'L _..­-

Find f(-5) 

+(-5j~L(-~~,+'l..3 

--~ +-1-­ L- '3 J ­ 3 
Find x when f(x) = -5 

- 5"::::; -!r-K+ '­
-1- _~ 

mm' 

-~=L)( -7.:::=- Lx 
'33 

~._.,-~ 

tl~=-X [it -X] 

f) What numbers can you put in place of x and get answers for y? That is, what is the domain of this function? 

AI) kJ N~~ 

11L ~ ~. tJ;;.; -f-.d.-~ 
2 

~ iUJ AJ;J.-U-r.; 
CE3 

L,i"
/"



Solve the problem. 

6} The function f, given in the diagram below, computes the average cost of an item dUring year x. 
a} Evaluate f(1967). 

--

b} Explain the meaning to your answer on part (a) within the context of the problem. 

:k- I?C7 ~ a.V€/l~ wf¢ A ~ ~'4eo 
c} Solve f(x} = 570 

d} Explain the meaning to your answer on part (c) within the context of the problem. 

~ Jq73 

~ Determine whether f might be a linear function. Q 
7} x -2 -1 a 1 YES (jXPLAi)NO 

f(x) -10 . -4 2 8 

VVV- 7Ae. J~pe. .M 
+t ~b ~ 

(1YlJ.+~r 

8) Make up a table listing 6 ordered pairs in such a way that you have A FUNCTION WHICH IS NOT LINEAR. 

-t ox 
-~to 5 7 13 

3
 



Write a linear function for each one of the following graphs. 

9) s(0"F-::=- r< ~V<- _ - fa :::: ......"L.- ~:~ _ 6 -2 
A) tlJl(\.. - -::r- B) ~-3-

· ... , .. '8 
Y: : : : : : . ~.::=zX+-" 

, .....• '6 - . .. ..~ 

• .. , •.. '4 ~ ~ : : ;\Ft)~7-t-b) 
· .. , ... '2 

--8 • --6 • --4 ' ~2 . 
· -2 

..... ... 
· .... 

~

'0' 
• .. '. '..? 

C) D) 

•• , •• '8 Y•• , , •• " . 

· .. . .. -4 . 

. . . . '·8 . 

, ... , •. ~4 

• . . , • . . -ii 

• •• , ... '2 

· . • . . . • -8 

--8 ' ..{j • --4 • ~2' 

· -2 

.. ·····6 ,. 

Write the slope-intercept form for a line satisfying the stated conditions. ,
 

10) The ~e passes through (0, - ~IJ and (1,0).
 

o _-ly1.- ' II	 (J. . ~..J- A /~_ - ~)I __ 
(Y)	 ;::::::- ;:::. __ Oh".tA :/1.,;\ f!/[~ l:" 

1-0 2 

Find the slope and y-intercept of the linear function 

11) 7x - Sy= 15 

-5~;=: -7 X -t-I;­

M~!L)(-J2.
§ S 

4 

/}:=;; :L- X - 3
5. . 

[ 

.; . 

f ,i' 
hit' • 



The table below represents a linear function. 

12) x -4 -'2. 0 2 4 YY1 .:::: - 7- - /1.­
f(x) -12 -7 -2 3 g

451:5 y;,/Jlr:,( _-?- _-'I' 
a) Find the missing willies inThe table. 

$U- ~l)v:e 

b) What is the slope? 5" 
(ft::::7[; 

c) What is the y-in~rcept? .? ) 

l') -7 
d) Write the equation of this line. U S" oJ ....,

d ::::= -;z:I' - c­

e) Complete the statement. ~ . s-
In this line~ function, y is ~decreasing (circle one) at a rate of '2::: units per unit 

Match the situation to the graph that models it best. 

13) The average cost y of college tuition from 1990 to 1997 

~ ~ 

y 

x 

x 

C) 

y 

x x 

L. 

5 



Use the line graph to solve the problem. 

14) The line graph represents the gallons of water in a swimming pool after x hours. There is a pump that can 
either add or remove water from the pool. 
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a) Find the slope of the line segment from (5,467) to (9, 0). 

m~ 0-,%7 
-I-f· 

b) Name the time interval over which the amount of water in the pool is constant: 

c) Select the correct interpretation of the slope as a rate of change from choices A-D given below. 

A) In = 417
; The pump is adding water at a rate of 417 

.gallons per hour. 

B) m =4~7; The pump is adding water at a rate of ~7 gallons per hour. 

Llt;7 " 467 
C) m =- T; The pump IS remoVlIlg water at a rate of2 gallons per hour. 

£1 467 .. 467U· = - 4; The pump IS remoVlIlg water at a rate of-- gallons per hour.
4 

Solve the problem. 

15) The value, in dollars, of a copy machine is given by the function f(x) = -350x + 5000, where x is the number of 
years that have passed since the machine was purchased. Interpret the slope of the graph of f as a rate of 
change. 

A) The copy machine increases in value by $175 each year. 

B) The copy machine increases in value by $350 each year. 

c=9)ne copy machine decreases in value by $350 each year. 

D) The copy machine decreases in value by $175 each year. 

.'-.../ 
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